l _
POLYCET-2022
N E

o0

Hall Tick o ¥
a icket gy g e
Number : Time : 2 Hr. 30 Mm-. Pl
ch

Siﬂﬂﬂ!ur{" of Total Marks : 150 , 1 “'é

the Candidate 15
Cbalion Bookiet NO

Note : Before answering the questions, read carefully the instructions given on the

OMR. sheet.
H8anS® anguds ardien eriidr SeHod.

ards . @RENoD sy [Tradubih Huodh, OMR s

SECTION — A : MATHEMATICS (538 a=8550)

i he number 'n' is a

(2) Rational number

(1) Natural numbe

{(3) Integer (44 Irrational number
" '0n0 ol
(1) A% 5 (2)
(3) Zpd Homs (4) sdcdan pe
2z Whig I the 1 & !
Bol Fod” 0

-.r' P =1 (Z) nld u (3) |'_-—'!'.I!. (4) J."l'.\l|.—_'||
3 Ihe zero's of a quadratic polynomial 4y~ +8y are
i 1 aX X g I A
(1) 0, 4 ) 0, .2 (3) 0.8 (4) 0, -2
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= 1) 4
(k)2 (2) 3 Lo
5 A = - X sare DL G AI€
= v Y¥ i an imational pumber. where P 4 yhers
(1} Eveii's : (27 Pame AL
| CVen numbers o
1 3 at None
(3) Rational numbers (4)
vP T4 2ORY @ g =
\ : (2) pogrn RopgF=Y
0 Romge .
(4) «
1] 15
. . (4)
)% - (3) iu AT
LY \ 21U L s =30
J 3 [+
8 3 then nu f subsets « e
davnb e DoR
. e, 2 { o (4)
z :
) v V IWO I bers is equal then those numb
\ ( ers 2) ime numbers
i umbers nal numbers
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10 Thclpai; of equafions x=0 and x=5 has

—1) Unique solution (2) Infnitely many solutions
(3) Two solutions (4) No solution
¥=0 980 x=5 e sbsture we DA o die
(1) 388 365 s0n aotran (2) wsoasDs Fdten 55A dotron
(3) Bodb >sse% s0A S (4) Dendodd Fdden 5/ dodi

11 The degree of a quadratic equation ax= +hy+e=0, a20 is
ax~+bx+e=0, g0 &G Aoy S By, SoHrwin
(1) 1 (2¥ 2 (3) 3 (4) 4

12 If o B are the roots of a quadratic equation g +hx+c=0, a=0

ax=+bhx+e=0. a#0 s} o S8R &gy Dreren O Pen wown
1 [ P ] 3
Y =—ta” 4+ Zhel o =2
1) h: o L0 2) 774 :
1 f== l
;5] _‘_\‘["-' e 1 ! 4y == \ L
(o]
13 [he roots of a quadratic equation 3 )=() 4are
-
" =3x=10=0 AT
(L) =5, 2 2 (3) 2

14 The sum of first *»’ natural numbers 1s
Fwsdd p’ e doppe Dwdiw

nln E] 4:, \ W7 ,J

—-mn) i = i
(3) E.r;—.iq-f 4 (%) lr—l—
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15 f'-ﬂ—*i . then the lines arc

y - (2) Coincident
(1) Unique solution 4) No golutions
Q)v'lnﬁnitely many solutions
S8 L o, & Bpe
ay by ¢
(2) D8ITOR

(1) B8>S 8OA dotran

B
(3) obosd F¢hey DA dotrod @ R

a1 are 1
mnomial are
16 If sum and product of zero's of a Quadratic poly

corresponding quadratic polynomial is Disle b W |
2 55 exost Glog) drarge Bugo Hoaw LGS 320 VT 1,1 wone; ,n DEPOD o)
./‘-- 2 . r2+lr.—3 (‘i’) ""’-l _\:_Lz
A1) x* —x+1 @) x“+x+l (3) *
17 The sum of 10 terms of AP. : 2, 7, 12, woceeneee 15
PR el ©oEHSS'D 10 dxre Bodin Jod 7
1y 245

(1) 340 (2) 345 (3) 240 (4) 24:

18 The slope of the line which makes '—} angle with the positive direction
3
X-ofod Gerd & &46° '%} 'm0 Batn T oren Jod 7

(1) -1 20 (3) 1 4) 2

19 The distance between the points (2, 3) and (4. 1) is
(2, 3) Hoaw (4, 1) DodbPo ey drdin Jod ?

(1) 2 ) 2 @isdk A 4 5

1 respectively, then i

of x-axis i§
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20 1fthe given-lines 254 ky=1 and 3x—5y =7 arc parallel, then the value of & is
2r4by=1 fbaty 3r—Sp=7 e Shrcdd Bood maud, & Jend

(Ey=7

-

{ !

o

(3) =13 }Ir -

oif

21 I in the equation si39=]

{0, the value of 37 is ‘47, then the value of x will be

11 =10, svEdmod™ 1 A 7 Dend Y eso, X Deod

/ £ (2 2 (3) 4 (4) 5

v+ 3 =0 have pwo equal rools then k=

(4) +£342
23 The sum of rools of a quadratic cquation 3x° —7r+11=0 is
vt =7 i DS Mo Surere Shda
(1) = = (3) = (4) -
i =
24 The pair juation: ix—10p=12. represents the following
(1) Para L 2y No solution
( [nhnitely m alutiog {47 ‘One solution
1 i a2 &, [Bod craa) A wiosing
(1) 2suvodd Dmew (2) pad B
AR e R (4) B8 >
] B p ¥t =
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The pair of equations 3.+ 4y =% and 9x+12¥
ix +dy =% Héaty Gy4 1Z=06 ﬂm Sigl, asraodE

y 4% 5
(k) 3 /_u_rf (3 0 Gl

e b 7
How My I‘n'l.('n-{]|gt[ numbers are div isible h\ 3

3 3 prfosed BodoRs Sompan WOy 7

A {3y 40 (4) 45

A1) 30 (35

: £ ; : gth porm i
In an AP if’ the first term is 4 and 9% term is M} then 13 1Crm is

28 WoEEA My ek St 4 Bboku 94 Hdn 20 eand 15 5 Sdn Jdod ?

(1) 16 (7332 (3) 1R (4) 36
In the below figure A POR~ A ABC then z+ y=
E08 2t ol A POR <A B damaS =
[
L i
o bt
] NG B
2 4 ~
0= 2~ = 0
Ll Uy | 0©
3 1 h 12 —
; 4
(1) 4 = (7 = .
v o 3 1) s f L
iy (4) 4
A A B¢ A FU P=60% 250 T then |

AABE~APOR, £ P=60°, £0=75° eani 4 A-

F) 9pe (3 F5e - o
= % [A3) 40° —_—
3}, 40 {(4) s0°
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From the hf‘iﬂ\\- ﬁgure the Vi-.’.l.ll..l.f of s e

[Bob Shaw ol "' Neus

(3) 14 (4) 2°

and P L 4R then the valug of 4B 15

31 In the below figure OF=13em: OP=12¢em
[Bob St ol Of =13 2o.bo: OP =12 ot @sote OF L AB woud A8 S0

e,
v 5N
R
Bl
L),
75 eém{Fo.md)

-[
\"\-\. __.-"'
(2) 100 cf 3020y (3310 cmo.an.) (4)

[f the point P(x, ») divides the line segment joining the points A{x,. ;) and B{x;, ¥, )

32
1, wBs* woddom

internally in the ratio my :m, then Fx. y)
Vo] Dothiesd D d Bar mooedy MmN
at - [ *

i, vy ) oo B(x,
widowh Docsy Plx, )) Quiy Mrdste
Aty =miyxy My —=may ) y / i R L o i S \
(l ) | l.'i:; = m: : "f*',- — L) f.lri — ru_. 3 m-L - m:.
[ mXs =nLXp myys =msyy
1y M |

.'_'"‘-I fri|_1:+.rr;_1‘|i 4
: ) | my g

LT Xq TR

el

P o ) n!; 1 T4 )
i = =
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34
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36

The mid-point of the line segment joining the points (2, 7) and (12, =7)
(2. 7) @bdits (12, —7) Boigns® Do Berpodin AV Sdg Dot Mrie:

(D (-7, 0) v . 0) (3 0, =7} {4) (0,7

is
e T

' k!i?

The centroid of a triangle is (4, 1) and two vertices are (2, 3)and (7, 6) then ﬂ'lEthird .

vortex 5

w8 [Bebes ths Sogan (4, 1) oot oo Bodks fgren (2, 3) tbatis (7, 6) eaum ardd #‘?.“‘-

(1)(3.6) (2¥ (-3, 6) (3) (=3, -0) (4) (3.

In the below figure ARST ~ A RBALHhen the value of x is

(Bod Séns Zo8 ARST — A RBA wouH, ¥ Ded

(1) 12 (2) /24 (3) 10 {4) 18

e SR id -
Which vessel shown in the below hgure can hold more water

Y
52 =
~—1 I
A [4 cm [—

| e | B 1| Cn
| — = ==

| em 4 ¢m
(1) A (2) B
(3) same in A and B {4) Not decided
L‘ll & ehrram ad :.\-";_::l ‘i:r al .l-_ﬂ.'_Tl.-'?- HOA Ao fedds 7
[
- o

5
| | K ——
A [ ] R4l

e —

e — ey

| So.8b.
(1) A 2y B
{3) A dnboxn Be* e A0S mman (4) MdovodBitn,

2 1)

)
a8
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37 :”1_'-‘ radius of the sphere is increased by 100% then the volume of the resultant sphere
is increased by

a4 Ao Gl waan 100% 2ods, D63k Alvin Buk i H0trein Jo& Db 7
- y W e ;
(1) 200% (2) T00% (3)—-500% (4) 900%

38 The radii of two cyvlinders are in the ratic 273 and their heights are in the ratio 5 2 3
then the ratio of their volumes are
Dod &rire E_--é._-_}.dglg =08 213 sbam il e KNS 5 13 eonl ol padtSreo 08

T I - .
(b) 2027 {2) 40: 50 (3) 2030 (47 5030

39 RPand RO are thé two tangents 1o the circle with centre “O" and £ POQ = 110° then

ZPRO=

O BoiSiune e g RP dotors RO exBod .‘:u__.-j;;-‘;i:_-t-u Qa2 PO =1 107 svass,
2 PRC

P

=
- S

R N T —

A \I ———

Qe .
| | e
\ —

4 W e

~ L

7}
(b 70° (Z) 9p° (3) -35° (4) 100°

40 From the below figure the value of

(EoB b0 dood 'y Dend

=,
? e s
|'J — N
[ | P
\ ! —
LN £ =
P X
S
[

(1) 2021 ¢cm o L:L-:.] FE) 2022 ¢m (?I'-:l‘.}

(3} 2220 cm (Bods) (4) 2020 ¢m efy
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rom the centre of'a C{ﬁ:ia

point 15 om away | b

L]

41 Calculate the length of tangent from a
of radius 9 cm. 1 .

{3) 12 cm (4) L0 cm '.

2505, dirdind® ad DO geoth. weuyy

{1y Il em {(2) 9 em

9 Tod sredrdiumr fo ayeedl, ord dodan Aod 10 46 N
=] o_. 1

i 2 1) o b A R T ]
& Dothiy fod HyedE Aanads iy 0 S d CE ey : | ]
= 7 2B (4) 10 o=k
(1) 1 o (2) 9 Doty (3) 12 S
42 If the radius of a sphere is '2#' then the volume will be 47
i o) mredrdin '2r' moud, ovd) ol SBErE) .
W
i ]
4 1 . . = B bty
(1) = (2) 4nr (3) s/ 3
: - et B : 3 7.and S then which
43 A circle touches the sides of a quadrilateral ABCD at points P, g. i and o [
of the following is true 7
= it e B B e M TYB b e
ol 'a'-s‘ul'._i-_:-rwf' iR "-'-"l"\l'}:_\"‘""'_‘;'.h P ‘;_J- R z=bar 8 s =50 __-.,,.f:s T ol e 48
RO
1) et |
o \
5 107
s
i s
r l“*a_“:,
p-—lp 49
{ | | ]H i Y i,-‘: r-I |:I |':Z" i Y I
3 o {
(3]} I B+(D {5+ B i 34+ B = 1 b |
o - . 5 5 Y 1 L
44 The curved surface area of a cylinder is 264 m= and its volume is 924 m? then height s
of the L_'ai'i’i-ih" 5
(1) 3 m (2) .8 m (3) 6 m (4) 4 m

> B.al). BIOAE, @ fraan
.Jﬁ;:

B 3] E
(1Y 3 & (£) 8. (3) O b (4) 4 3
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reof 3 o 5 The angle betwee : :
e ol'a ¢ ircle 4 il ctween the Lingent and radius drawn through the point of contagcl 1s

oy

oy -l g ot
Sy S0 Do O e oiE

m |

Hdad Side o HFedn

ik 3) e (4} &=

boEGDe

| ek Do §6 When o by
1T Ny ._! X o e = . - wwr L o :
e are rolled the probability of getting same odd number on two dice 18

oy - L B 3
OO Codo av-Dder S BB

.48
i = (2 : gy
I 35 (3) = 4y —
I8 I3 16
47 CAN hlaal caki ; 1
t- black balls and '6° red balis, Tf one ball is deawn 8t random. then
O gething red ball is
A X ¥ L
4 < OV T fesd. nd w08 o aly Dby ol
=Rt a7
1en which ) By 2 :
vIChH | g ) Eh] e
7
4% | — A 1 | s I
i _I / -} .
L1l I | 1 5
(3] 4 i 17°
0 T ¥ 1 §
4 LEe dength o« 1d ! ! €3 15 or ength. The: angl
< 5o 5T . 5 AR Avtte B e
)30 23 ¥ nl {4y e
16ight 1eEg :
= M nd len i a | I v } B & oroumnd th 1
2 e b 1) Ay s | & . & g ey
i A \
"I‘:._.
| 2600 5
) = ) = % =
J J J3
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==

If mode

= = 4 i
<9, mean = 32 then median =
ErEPOTERND = 00, suan — 32

(1) 29.5 (2) 30

TN T g e S —
(3) 30.3

th
L ]

The median of —4. —H. =5, 3.0, 5 and 1] is

. —6,-5,3, 0, S'asats 11 o S&eddo
(1) —

(2) =6

Average of 11 numbers is 10.5: If one of the number 9 is del¢
the remaining numbers 15
1 ]E.Jcmgt-'.: el 10.5, g dope O i Befions, RGN fopre &
{ | Y1 -
) 10.1 2y 185 3y 9.5
54 I 5in@ = cos8 0 <=8 <002 then tan ®
! i ] il
5in 6 =cosf (0 <6< 90°) wous, (and
(1 ) l (2) 4 12)
55 tha i
93 In the right angle A ABC. / B=90° tan( = (For 4
' F- J 3 LIS e |
A A B |'_"I' BR=9 14 —
(1) 16 (2] 13 (33 21
56 The tops of two poles are of height 20 m and 14
; I =1 ~Af il 1% 1l
wire makes an angle 30° with the horizonial i
= e LOULAONLal i enotl
(1) 11 m (2)-12'm (33 131y
20) sb. HBatn 14 . e fe Dotk Botre: E<E st &b o

oy Y =k 5. . i !
B dih o erds By PaG o ?

the ay Crage of

(4) ] 15
P ILESC 15
ot A L Y
1 g
| wire. T the
e I
} |I_ 1
B T o Ry T
<iT S Dad 3
| ] .L.
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&7 ldentify the ¢

TETEC] statement -

1

(2) plE)=)

& (Bopy oeatst
= | B00 2l :'_tczh-._ﬁ RS

Siniaaly -

(2) p(E)>1

then sin 4 Fcos B

i

/gur-_ PLET=1 (4) None

{3) b= PLE)=] (4) @b e

I* up Sin A+ eos B Desd Jod ?

= e 5

(1) —= s ;252 T

2y == )= R

2 v v
:':‘.'} I e value if 11 -
L
II_I - — —n =
v+t !
(1} coso ! sing (3) ceseco (4) seca
60 I (4= —=, CO5 4 --:» then = B=
= == “wa) B=
) =
| :____.: ( -. | _; {3 T: ‘u::] ‘|._
SPACE FOR ROUGH WORK / 98 58 Seronodala s
= =
I|
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1 | ] :
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SECTION — B : PHYSICS (788 #°29:02) ]

focal {‘-lfﬂf.‘n.

fbanodroi.,

(24 i3) 6 (4) 8

15 pdaced i water, it's focal le T
b

(1) detreases (3) does not change (4) none of the above

r 4 -
2 ouRRIE ol arareodiciing
d i
L) drgdn (30 Soecich (4) a5 H |
i sed n solar cooker is
(2) Convex
8
i | :
It ViEN [ N One
IN( |
i ol " ) n:,"
| '_'I
) (1) o8 5=k
| | i 1 i il Ir } W & ¥ 4 -
ecl from the o obtain real image incase of g 6!
o T e I 3 W & H2 FLm o e
| 2] (3) () F'2 |

HOWING 15 th oy [z in 1t !
he lormula for magnification In

case of spherical mirror 7

14
[ PT.O.
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i

08

mse ol a o4

woer

pliagaly

POLYCET-2022—D ] 2

rarallel beay of IighT After
(1) Pole
(3) Focus

passing through o convex lens poss through a point calted
(2) Centre of curvature
{4) None of the shove
FIROAE 708 Dowa Wotred ghighy fhoa Gotrdols SGod D Body oo Sk 7

(2) Bjso BodEn

(4) DR =

Ihe size of the image formed by a convex mimor is.always
) Enlarpe i S ;
A ped (2} Diminished

(3} Double give ofF -1 \ -
| e size of the oMect {4} None

D O

o EEDos Sofrmin Jetods

{1y Convex mirror (2 "
a2 Pl TN

3 CAANG WO (4 Mone

| =

(3} ==Snde
I 1he cal le o spherical minor 15 10 em, wha e value of mdius of
3 . . .
| {4 2 _‘l cm (33 em 4 N onic
Rl ) EleEr i R _l_' oS Hdme o ok 7
Kl i (2 (3) 30 =x {4) o8 5ot
lens .i'.'F'L'l-II'i'\-\. ol
(2) Refractive index of the lens
(4) None of the-above
<)
y
(4)
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ssible only when the objeet | 5 7

l [

(2)-greater than ‘

! ificatid i age 15 po
71 For a convex lens magnification of virtusl image 15 P

distapye is

{1) "8ijual to F
(3) fess than F (%)Y nomne of the aDOve
. : 4 HaE ; Sodrduod 7

giogesrd ghdt Aol Jod drddnd® Stnipi AodspE DY B

Bk
(1) argrosdiuhe Sbed cortiion
(3) rdecdsin ol ddnd (4) Q6 =
[+ 113 —
; A 14 1 illéed
- R [Pe————— B x Feta B ElEs UrTio dridd Lo
72 In ancve. muscular diaphragm between agueous numotl
(1) I (23 "Puml ) Helina g
5 - £ 3 e - 3 b =
B i faaral BAYEwIE DO O SO0 e ;!
5 =
{ g | } _
73 Angle of viston of a heaitl dult huma :
B G e o
] i
/4 Theimagnification o meave | -
il <iual 1o one { |
I e -
[ 1) 5a35 ea &3 A
| f
f
5 what 15 the { i 1o W ¢, and
1 1o the fractive inde
Jos:f
1) us , (2) 1 L
I b 3 B | W I = -4
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; ihe objegy of the fall 2
niy wheh Th HIOWIAE B ree I case of 2 concave lons
1) Frect and viryg i
p— = L) Ivvariss mad vIE S
3 rect asid) r e 3
2 T £ [rriermesd g regl Eompge
e I _f—";

St Bosdoct TS O Nl & (ot crd DN RS0 7
w i O A -

ey el dal e W
i . ot WPy ATty 1) SmaBraons [afirsl: eory maLrmiis
| 3
i, St Se LT F = e
o e TR agom. - = S = T
- 3 k
=
. 2
- iSRS o =

A e
Pl H - N o
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' hat is its focal length 2
82 A person is advised (o use 5D lens. What is its focal leng
3y 2 em () 20 cm | |

(1) 50 em (2} 5 ¢m 3y 2

3 ™ i gl n = 2
o ScBB 3] gess oy e ol ArDodiod DD, o ,;n;-'_r-r;’._wdnw k-7 ’ |
(3) 2 0. {4) 20 Fac:sb.

(1) 30 oy (2 5 =g By
: * I Ty . LOT Are
B3  Direction of electric current. and direction of electrons i .a comdugtor ll.-:.- I #8
(2) l'urpr:mliclli'.-lr to each other
(4} Mone of the above

By Same direction
ch o othe

(3} Uinposite L

5 Sare B4, Jusvsoe S de Do dotrou
(1% o8 m (7} s rOE 8] eonoM® |
(3) ZedtzZ ng ;.'.I =A@ANAN el
: Jearly bul can see distan
54 hie defiéet by which some peoplé ¢an nol se¢ near objecls clearly bul ¢4 SLAL
obects s called v
Myopia (2) Cataraci (3) Presbvopia (4y Hypermetropia |
. S A S
B oty ¢ I 5 SR v {arr iy _."Iéu'c:_]\'_'»,-';l cindffest. I:'S;Izlfﬂ J‘M;'J
a= | Hl}
Bt ol
l {29 Tha ok} (4) e odand () 'd'l'.“}ﬂ"‘
s ] ocal lenpth I ye i hanges with the help of
I Pupi (2) Agqueous humour
| Tl [ () ‘_I_:1::|I.':l| Nnerve
. [
i 2y il
: 0
( (2) JRSE |B550 W
1) &35 o8
86 In the cir en below, 1f the equivalent resistance-1s 100, find the value of R_|
598 D6GE Devd 10 0 eowsd, R Dud Safsn |
1
[
1
] \
) f % .3 } o
£
: e R 2 b)) 30 |
e
— , —_— |
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w oA Bty i mirked 60 W e 240 Vo Vi the rexintanie i th bul,
[T R ol W bt 0 Y el LT B lm}a#ﬂ Pt g Jod 7
() A (2) 106 (3) 0606 ) sa -

i g i I - ¥

H8 Which of the following s the equation Tor given cirenlt as por Kireholi's loop law 7
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op In series connection of resistors, il one of the resistors brenks down, then
(1) erewt 15 open and no current flows in the circuit
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(3) current remains the same in other resistors

(4) current decreases n other resistors a little

(2) bAf 5 axtiorel ynamdniiny Db ol
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SECTION — C : CHEMISTRY (63700 ar&an)

91

Four quantum numbers of valence eleciron ol sodium |

Haavo oty HEHT Joswb usy et 57godio Ronge '

(1) 3.0,

92 'he total number of atomic

B8 WOSrEIS W aros 8567 400 el ErY) Mo
(1) 1 (2)

923 1

Doberemner's law of
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Which one of the

1] ) Losmic rays (&) A=ray
808 abpdanarios D80 S Tl ot
(1) 5“':";2-_‘:'5 Bilcren (Z) A-B

7Y

Basced

2. 1, 0. =12

orbitals in third shell of an atom

D

18

an dalomic number 15
Mewland's law of octaves !
o8

Mandeleeff's periodic {able
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G

more frequency

(4) Radio waves
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o which of the Ehlluwing

electronie configuration violating Hund's rule 9
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(1) Al (2) Ca ' Mg ( Na
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Bod et e IEETE0 rfe |SS55al KR A
':-’.J a1l "_.' wal) )
99 Which of the following 1 TI00 1 1
'_h--"{-.- RSN gn 3 7
(1) Ph [ | 1] (4y ®
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101 Which of the following process is used for the F“nﬁ"'“h”n of crude metal

(1) Roasting (2) Poling (3) Calcination ).;-Fmih flotation {107

(Bofy il i'?"é-niJ@@a e LtV als ol

(1) g8 (2) #50:K (3) ohysdmo (4) B2 N300 S
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=N
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g el 47 gmalho
(1) grer (2} s {3) =k CrliE pH
(1)
Y . {
103 ¢ i‘IIIr‘lllll]i! formed when excess CE» 15 ]'\I.i-.'-i'l! |ilf',_l|.!:'_'|| lime water (3)

DAy 2 ored woE COLd Solssipd J638 Hordi

(1) cafo e e 1y-Ca(HCO; 109 Wh
| o |'_:.|.'_|E_ ._-\.:I F 5|‘|"._ 1} .-_" | 3

104 B-Na+BH,0-0NaOH+DH,,

(1)
A Na+BH,0—=CNaOH+DH- e a8 A, B, C# Ly
( B (=2 1) A=2 ( )
(1) 1, i 2. D=l L) 110 Th
(31 A I | D 7 A B=1 3
Bof
105 Identil I in the followin (1)
B .:_;l' e

111 4f
(1) MNaCl (2) NaDH (3). HCI (4) HCN

106 In endothermic reaction

{<) Dol Changes

, 4t
il T 2
(=) all of the above .
(1
(2) Aty doded (3) -
o (4) FAS ST e ) | (3
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: - Rk ne of the Toll 1
12 The electronic configuration of an element is 2, 8, 6. Which o Wi

: : 9
¢lement is chemically similar to the above element =
{(3) Phosphorous 44) Chlorine

B. 6 gD a8 Mreito, (Bod @) o & mertiof® divondgorr O “otuol §
(4) g0 18

(1) Nitrogen (2) Oxyegen
Jurad Jreo 2,
(1) Bstas (2) eByaS (3) Frapee
113 Which of the following pair of atomic numbers indicates the s-block elements:
(o8 T&8" O aap Bftirem Hoggen S-prdh SrOSTO Aardaron ?

(1) 5. 6 (2) 9. 10 ¢ 11, 12 (4)

114 The element which belongs to 3 period and 14t group in Modemn periodic table §

(47 Aluminium (2) Silicon (3) Phosphorous (4) Sulphur

gm ol s gl T o By . R - ol £ A "
LioudS wandn DATES" 15 HRonh 2babo 145 [gha Tt DOLCDRORY alkF

(1) eemeihdanc 2) e (3) Lot (4) Reyb
.I- =
i ;
115 Washing Sodn is used in
i1 [ o, 3 v e } |
M Crlass, | aper Industry (2) Manufacture of borax
1) Lleaning agent for domestic purpose (4) All of the above

aPL00 AOP e - @odhdE” SOErAdr .

= ) = R T
(2} fjerssore Bho 80oh D2od (4} =59a
116 Maximum | er of electro e i 1
faximum number of electrons present 1n an orbital of atom is I
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(§7 Bascs can give ons in water.

wﬁ‘m e A Emé‘r‘h ﬂdl‘:‘;‘ﬁ,)

i 42 OH (3) H,0" (4) OH

(8 Colour of anhydrous CySq )y is
{1} White (27 Blue {3} Green (4y Yellow

P

oy Cust ), Bovh

(1) Bexidy 2Y Beg (3) eadsdsy (4) sy

19 Bleaching Powder is formed from
(1) Slaked lime + HC] (2) Slaked lime + Cl;
(3) Quick lime + HCI (4} Quick lime + CO4

Boofl irdb S hold Do ot

piL Mixing acid Lo waler 15

3 b 3 " { \
( swolherimic reaction {23 endothermic regction
A1) exolhéermic reaction )

" 4Y nome o1 e abiwie
{3) neutralisation (4) none
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SECTION - D : BIOLOGY (efow

. - : o 5 is known 88
121 Growth of a Plant in response to a light stimulusis koo 1) None of the shaw
(1) Geotropism (2) Hvdrotropism. {3} Pholotropsin l IO ! g5 Gl
b7 C e

Tt en =voBE wibhdroom DHododars _ wotrid : | (1) oo

! o - S N (4) TR 5= | o e

(1) fodereinidio (2} Salwnisio {3) srob eRR0HO = I (3) =g

3 o 1 g ed
spme (lower s % alle s ;'x,itﬂlii!

122 Transfer of pollen grains from anther to stiZma of the _ .
(1) Cross pollination 2y Self Pollinatiof (1) Mot

{4) Anemophily

(3) Hydrophily

asHETN
ad L -

Serl Biso Sod Sord Baoinen wil SEne ab

(1) 5850 oddo
%

(3) $ Badds o 1) = i | 128 .
: il
LAY PN
123 Plants which undergo the vegetative reproduction through roots ol 253
# a s x ' i £l |
—Y Colacasia and (2) Murrava, Guava and Vil | =
(4) Wone of the above

5 I i
(3) Brvaphiviium ang

129

-d from seminal vesicles, prostate gland

124 Ihe fluids secre
nal plasma along

[he se

SCImen

(3) &ray 1) i
| (1)
125 The mode of nutrition in Paramoscium is
stion (2) Absorptior (31 Parasitic (4) 131 In
| |
(2) S : i e B
|
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[ which part of the brin controls the emotions 7
(1) Cerchium
B &y ‘Adid bramn
il ]
i+ ?‘-‘-\.'l-'h"'“"iw"h*"‘l: 5 G
ks GSEE =) O o R Ratoiiidson 7

(1) &Ege (2) &goido

126
{2y Diencephalon
(4} Cerehellnn

e
i {4 ﬂrﬁ)ﬁ?i:{.‘&t& (aBeifn)

| e perermtl Fertilizetion is: observedin !
- (1) Monkeys (2} Humiins —_.’1]' Fish (5 AT of the above
eodrth e sehddse __ & edhididios
Ji Seven 3y Frddnen (3) Boew (4 E;;-;;
it and functional unit of nervous system s =
{2} Nephron (3} Osteocytes {4) None of heabove
") € baty (s i
1) {2) Pydee 1) et Tl 1) = welh e i)

e ) — S€
Sheh S'oals ok T
g,
i1 ¥ .
I () 1
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il -
3 1

B 3,
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{ . \riimal \ 1 (4} actobia
. )  Hr szl L L
L L
) i L) (3) # i ot il

ROTICGH WORK

Qcollegeduniar



= |pifferd
af the chest cavily 18— I‘ﬁ'

132 Muscular tissue present at the floor {4y Alveoli

; 1) Trachea
(1) ‘Bronchi (2} Diaphragm 12} ity (1) B8
! <ot

SR EE ; . 5 & : P e
G ESsE Brid arhod® dod Soddonydsio 8

" (4) srotuftee A H
e Todls F
Shien0 e

Latr respochve PASSAECS i
air towards their FESPE

T 1 =y 1 4 an
controls the movermeni ok food and

{ Tz
1y Nasal cavity (4) Trachca \
(=) ' INASAE L L

Ml b i

134 During cellular

i cell .'.]'-"_1:':n.'||f-'- |
s stored 1 S

|
: 2 : ' 4y MNone of The aning Faala |
el ) MATE vovriadri 1) el [V By
12 COmpicx L) (IALR I 1

=441
B - . T { of
0§ 2y = e ol BE . . €
L 1
- (4% S o el 1]
i f | M CAELL |

contains __ it FSOITIC |

1) 20 Pa %) 23 Pairs 22 Pairs ) 24 Pai |
| i R A | l..in“ I
{) ] i | {3y 22 (=1 -"J.- = | | i

L) Analogm I 1 |
1 : | e | 141
I ] Vi's \I_ | one o IDOVE |

| 142
137 The phrase Omnis cellula e cellula, or Lis ar 1

irchion 3 narek 1y N F
Ao } Lamarck 1} None of the ;1!1-_1\c\
oy Shody Forpinod dasdyEiinee oy (e Ric Loy o
¢ SEroTEDy kx|
ety 7
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I- 3 [)IIHI-“-'”LLN- i!‘l cila CT /W | i B
3 . l!n 0T i = i :
] "]““ Lh. 5&-]} rel '|l|..'|.,i Broups il e

| (1) geénes i, R
A=) variations (2) (1) and (2) (4) - None of the above
h_.:'.ﬁum

(1) ssfoosmey
} wioghes €2)

G0 Bowota mey i
(o Ll ol = - o ok b . 3 L
dobs die e Ao afareed” dod Borol e,

Plergen (3) (1) moaxis (2)  (4) 3w
139 A cross betweesn

g ﬂww ; L.im.l;.n # round, preen seeded pea-plant (RRyy) and
PEA-T _‘"“ UTYY) the seeds produced in I o0
A1) Wrinkied and v

a wrinkled vellow seeded

generation are

(3 B i ellow (2} Wrinkled ‘and Green
| - ound and Yello
W Y (4) Round and Green
| |"i.."1'_'|_l'b.'r_- 2 BTy extyind~ 9
A& (YY) sos
| LAY, Lot
(1) S e =B Boiy RIRAT P | M
1) Micnetn s m rak
(3) MoIdd wbary S (4 e \
140 In | 2 Seneraton, the genotvpic ratio of monohvheid cross is
iy 1 A T e R T e
by 860t DE Sosss 20605 DS
L - bs - 2
| (1) 9:3:3 s R | 13) 1 ] 4331234
otal amount o ine evereted i hy | | i
141 Total amount of urine excreied pet day by humans is about litres.
araEncy Berd el pla e b 30 Bre)) ekl
LY L0 =12 X) ) 1.4 } .
(2 A : 4 f (4) 1.6 = 1.8
142 _functions as filtration unit
(1) Bowman's capsule (2 -Glomeralas
| (3) Loop of Henle (4) Renal tubule
[
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143 Identify the correct photosynthetic equat

1 B0 5
(1) 6CO,+H,0 _Light___, opH,0+H,0 ™0

3 ' Light 5 + AHS O+ Uy
z) L0, +2 Ll e (CH,O . :
{ 20— 2 4

4 e ’ Ligzhu o L O 400
3) 6005 _ Light . A~y 0406 2
(3) 6CO, 4 61,0 Chisropholl Ca2Ys 3

Light (i e GH LD+ O,
| st - :

(4) 6C0,; +12H,0

Chls I‘[I.llﬂi-".
B = o s G ; - . o = 5
50@ £ OO {ﬂ-[:—.\'-rﬁl'.-',;l ARES b o)y ,"’Lgr_},:.._...'_'n-_.’_-.
= o %)

[ll- r_n{_[h.,,.}-l_“} = !":-'":.L‘E'.}_T . I‘,'f!:ll e HL O 1'\{1:

(2) €O, +2H,0 —2=___, CH,0+2H,0+0
= o (Do s :
(3) 6CO; +6H:0 ——2= ¥ C H,,0p + 6Ha0 + 60,
: 2 Do SR
(4) 6C0, +12H,0 CyHo! g\l by
144 The latex of plant is the source of biddiesel

1) H.!I!"ql;_j (21 Chicle (3} Heves (4 I rond

By R 2 .o | A = &5
. ety “'?-"-! ity st LE0 el
(1) gt | F
. o L) G { A\ 4 -

145 ,'I'\'iih'.l'-lj..-'.!["[_‘. pOWWers formed 1n the ::‘illl'-'ll_!:L'|"| cal pliase ol pholosyntiness
(1) ADP and ATP (2} ADP and NA
(3) ATP and NADPH (4) NADP ‘and NADPH

BN e Dl sl
e .:_‘F."'_' )

Smeie DodlriBabd’s 1 el S A
= HHD =458 Bk
Y ol o TP A

{1} ADP &8at ATl (2) ADP 88055 N \DIP

(3) ATP &tos NADPH (4) NADP 5055 NADPH
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econdary fines: :
146 Ihﬂé ndary function of lungs to carry out excretion is g
o o Y- gt - Y - )
& 1i| ILm‘- "Idl of (_rjf 'n!".d ."ﬁl\'lllll_'l' 1:‘” ]'l”“““‘“i"“ of Sshum
(3) Urea formation (4} Excretion of excess sals
- ALTLAIE I CRLCS
SOSD melitore S 585 5Bas Hetirn
(1) }: SBaty ?J*ﬁj aarang DOTHAY

(3) abrdade doreh

147 Blood capillaries were discovered by n 1661
(1) Marcelln Malphigi | 2)

{(3)-Girolamo Fabrici

a4y Réni :
166] & GE BimmDinrs, S,
i — 3ndr =
i - ==
15"{ — 1o d WVl 1 link between blood and tis
from blood to cells and excretory pr ) |
A1) Lymph ) Heact '.
O s el oAyt e . s
A ) o b
t2d i i = i
148 In rees, removal ol wrevents transport

|'l:l I‘ll!"l'!':'l (2} LV em v len g . C i 3B

Bies" ™ Beafonsipi ey e 5
= —
e M f -
(1) 2F5E swmere ) orhd

1% protects the heart from ShoCks

{1} Pericardial membranes 2 :\' dinl
1y iricles
(3} Auricles y
oG earee 208 5
L L
(1) imytaXrindn Sgwer \
(4) pdfsa
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